








https://www.vittorazi.com/en/services/
https://www.youtube.com/user/VITTORAZIMOTORS
















































































































































































 

Insert the O-ring (79} on the propeller shaft. 

Insert the O-ring (76} between on the gearbox. 

Atom 80 - Maintenance manual - Vl 93 



 

Insert the Seeger ring (20) into the transmission cover. 

Heat the cover at the bearing seats at 720 °C. 
Place the cover (75) on the gearbox checking the position of the O-ring (76). 

15 

Atom 80 - Maintenance manual - Vl 94 



 

Insert and pre-tighten alternately the 2 highlighted flanged head screws M5x20. 

Insert the remaining 4flanged head screws M5x20 (13) into the cover (15). 

Pre-tighten progressively, then t ighten in crosswise order to 6,5 Nm. 
Let the transmission coo l down. 
Check that all screws are tightened correctly. 
Check the sliding of shaft on the bearings. 

Atom 80 - Maintenance manual - Vl 95 



 

0 
Replace the oil seal (78) each time it is disassembled. 

Grease the oil seal (78) with FP Silicompound 225 and place it on the transmission cover using the 
specific tool (47) (ACC723) to insert it. 

Q-----@ 

0 
Insert the bushing (77) by positioning it with the countersink for the O-ring on the underside. 

Atom 80 - Maintenance manual - Vl 96 



 

Correct bushing {77) orientation. 

12 

Wrong bushing (77) o rientation. 

12 

Atom 80 - Maintenance manual - Vl 97 



 

Insert the key (11) on the propeller shaft {12). 

Heat the hub to approx. 150 °c. 
Aligning the key with the hub groove. 

Atom 80 - Maintenance manual - Vl 

12 

9 8 



 

Insert the hub (3) still warm at 750 °c onto the propeller shaft. 
Check that the hub (3) comes into contact with the bushing (77) to ensure a correct and 
secure coupling. 
Replace the washer (6) each time it is disassembled. 
Insert the screw M8x20 (5) with the washer (6) into the hub (3). 
Lock the hub and tighten the screw with the torque shown in the figure. 

B 
~ 

Atom 80 - Maintenance manual - Vl 99 



 

Insert the Seeger ring (4). 

Position the transmission in its housing. 
Insert the 4 flange-head screws M6x25 (7) and tighten with the torque shown in the figure. 

B 

~ 

0 
After assembly, fill the transmission with oil. 

Atom 80 - Maintenance manual - Vl 700 





 

Remove the 4 self-locking nuts M6 (5) with washers (6) from the engine head (7). 

Remove the head (7), the O-ring (8), the cylinder (9) and the gasket (70). 

Atom 80 - Maintenance manual - Vl 102 



 

0 
Close the inside of the crankcase with paper to prevent foreign bodies from accidentally 
falling into the engine. 

Remove the circle clip (77). the pin (72), the piston (73) and the roller bearing (74). 
Removal of the pin (72) can be facilitated by using a heat gun on the piston in the pin area. 

Remove the piston ring (75) and the circle clip (76) from the piston (73). 

16 

Atom 80 - Maintenance manual - Vl 703 



 

3.12.2 Piston, cylinder, head maintenance 

Do not use abrasive tools and corrosive liquids that may damage the surface. 

Carefully remove gasket residues from the cylinder and the crankcase. 
Thoroughly clean the piston crown, the piston groove, the exhaust port on the cylinder and 
internal surface of head. 
Immerse the piston, cylinder and head in an ultrasonic bath containing cleaning liquid for 
aluminum. 

The cylinder and piston belong to different selection classes according to tolerance. 
Check the selection class engraved on the piston. 
Measure the diameter of the piston 70 mm from the base of the shell. 

Measure the diameter of the cylinder at 70 mm from the top. 

Atom 80 - Maintenance manual - Vl 

E 
E 

0 

E 
E 

0 
0 
c5 

704 



 

The table shows the cylinder, the piston sizes and the factory nominal clearance for new 
components. 

Maximum clearance refers to worn components. 

Selection Cylinder 0* Piston 0* Factory nominal Maximum 
(mm) (mm) clearance* (mm) clearance* (mm) 

A 4 7,580-4 7,590 4 7,535-4 7,545 

B 47,590-47,600 4 7,545-4 7,555 0,035-0,055 0,73 

C 47,600-47,670 4 7,555-4 7,565 

* at 20 °c 

0 
Determine the maximum clearance, if equal to or greater than the indicated value replace 

the piston and/or cylinder. 

Check the piston and cylinder for signs of seizure, otherwise replace them. For routine 
maintenance, follow the table. 

Check the piston ring seat on the piston, especially on the exhaust side: it must not be deformed. 

Insert the piston ring on the seat and check that there is play, otherwise replace the piston. For 
routine maintenance, follow the table. 

Atom 80 - Maintenance manual - Vl 705 



 

3.12.3 Piston, cylinder, head assembly 

0 
Replace the same thickness with one or more gaskets (possible sizes: 0,2-0,3-0,5 mm). 

Insert the gasket (70). 

Oil the following components with the oil used for the mixture: the roller bearing (74), the pin (72), 
the piston ring (75) and the piston (73). 

Atom 80 - Maintenance manual - Vl 706 





 

Atom 80 - Maintenance manual - Vl 708 



 

0 
The triangle on the top of the piston indicates the exhaust side. 

Insert the roller bearing (74). the piston (73), the pin (72) and the circle clip (77). 

11 

0 
Replace the O-ring (8) and the 4 self-locking nuts M6 (5) each time they are disassembled. 

Fit the O-ring (8) on the head (7). 

7 

Atom 80 - Maintenance manual - Vl 709 



 

Insert the cylinder (9). 
Add copper paste to the nuts. 
Place the head (7) on the cylinder (9) and the 4 self-locking nuts M6 (5) with washers (6). 

$ ® ~ 
® 
® 

Tighten the nuts progressively, then cross-tighten to 70 Nm. 

0 
Check the squish measurement on the pin axis: acceptable values range from 0,7 mm to 0,9 
mm. 
If the squish is out of tolerance, increase or decrease the thickness of the cylinder base gasket 
until the required result is obtained. 

Atom 80 - Maintenance manual - Vl 770 



 

Position the front conveyor (4) in its place. 
Insert the 4 flange head screws M4xl2 (7) and the nut M4 (2) on the front conveyor (4) and tighten. 
Insert the stud assembly (3) (composed of nut M4, clamp and stud M4) with threadlocker (Loxeal 
83-SS/Loctite 270 recommended) on the front conveyor (4) and tighten. 

,----- , if·· 
, , , , , , , , , , , , , , 

,- ,---- ~-

Atom 80 - Maintenance manual - Vl lll 





 

Atom 80 - Maintenance manual - Vl 113 



 

Position the extractor (2) as shown in figure, tighten the 2 screws M6 (3) and turn the central pin 

(4) until the 2 case-half are separated. 

Atom 80 - Maintenance manual - Vl 114 



 

Heat the transmission side crankcase to 720 °c. 
Remove the bearing (S) and the oil seal (6). 

Remove the crankshaft (7) using a press in the direction shown in the figure. 

Atom 80 - Maintenance manual - Vl 77S 



 

Heat the manual starter side crankcase to 720 °c. 
Remove the bearing (8) and the oil seal (9). 

Q ----® 

Atom 80 - Maintenance manual - Vl 116 



 

3.13.2 Crankcase maintenance 

Degrease the bearing seats and the profile of the case-half with specific products for aluminium. 
Check the case-half: check for integrity and abnormal marks. 

Check the 2 bearing seats: there must be no polished areas. Also measure the diameter of the 2 

seats, the table shows the factory settings. 

Dimension Factory settings at 20° C 
(mm) 

7 46,958-46,983 

2 46,958-46,983 

Atom 80 - Maintenance manual - Vl 777 



 

Measure the diameter of the 2 bearing seats on the crankshaft, the table shows the factory 
settings. 

3 

Dimension Factory settings at 20° C 
(mm) 

3 20,003-20,006 

4 20,003-20,006 

Measure the clearance at the small end and big end of the connecting rod. 

Factory nominal 
clearance* (mm) 

Small end 0,009-0,077 

Big end 0,020-0,029 

* at 20 °c 

Check on the connecting rod that there are no areas of different colour due to overheating. 

Atom 80 - Maintenance manual - Vl 778 



 

Measure the eccentricity of the crankshaft, the factory settings are shown in the figure. 

@ 0 . 02 A 
// 0.02A 

Check that the seat of the key is undamaged. 

If the above checks are not passed, replace the crankshaft. 

Atom 80 - Maintenance manual - Vl 719 



 

3.13.3 Crankcase assembly 

Bearings are not symmetrical: one of the two sides has an intermediate ring (70) which partially 
covers the balls. 

10 

To ensure correct lubrication of the bearings, orient them as shown in the figure: the 
intermediate rings (70) are on the inner sides. 

Atom 80 - Maintenance manual - Vl 720 



 

• 
Cover the bearing cage with a ring as shown in the figure and heat the inside of the bearing 

to 80 °c. 

Fit the 2 bearings (5, 8) on the crankshaft (7). 

7 

Atom 80 - Maintenance manual - Vl 727 



 

Heat the transmission side crankcase to 720 °c. 
Insert the crankshaft (7) with the bearings. 

7 

Atom 80 - Maintenance manual - V7 722 



 

Heat the manual starter side crankcase to 720 °C. 

0 
Carry out subsequent operations within a maximum of 5 minutes (application of silicone and 
closing of the crankcase). 

Carefully add silicone paste (Three Bond 7275) to the crankcase profile as shown in the figure. 
Height, width silicone profile: 2 mm x 2,5 mm. 

Atom 80 - Maintenance manual - Vl 723 



 

0 
Check that the 2 bushings are in their respective seats (highlighted in the figure). 

Close with the manual starter side crankcase still warm at 720 °C. 

Insert the 7 flange-head screws M5x40 (7) and tighten with the torque shown in the figure. 

Atom 80 - Maintenance manual - Vl 724 



 

Clean the excess silicone from the crankcase perimeter with a cloth. 
Wait for the crankcase to cool down. 

Replace the 2 oil seals (6, 9) each time they are disassembled. 

0 

Grease the oil seal (6) with FP Silicompound 225 and place it on the crankshaft using the specific 
tool (77) (ACC725) to insert it. 

6 

Grease the oil seal (9) with FP Silicompound 225 and place it on the crankshaft using the specific 
tool (72) (ACC726) to insert it. 

Atom 80 - Maintenance manual - Vl 725 



 

Check the tightening of screws. 
Insert oil into the 2 lubrication holes (highlighted in the figure). 

Check the sliding of crankshaft on the bearings. 

Atom 80 - Maintenance manual - Vl 126 





 

Plastic air-conveyor 
hand tightening M4x72 

screw 

Plastic air-conveyor 
hand tightening 

Lox ea I 83-55/ 
M4 

stud Loctite 270 

Carbon propeller 
70-72 Nm M6 

screws 

Atom 80 - Maintenance manual - Vl 728 



 

Atom 80 - Maintenance manual - Vl 729 



 

Atom 80 - Maintenance manual - Vl 130 






